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Subtraction (Vertical) Name:
Solve each problem. Answers
1.
) 3,192 2) 9,601 3) 495 4 272
- 535 - 3,289 - 69 -101 5
3.
4,
5 883 6 75 82 8 843 >
- 1 -41 - 6 - 33 6
7.
8.
9 518 100 4,492 1) 6,441 12) 528 9.
- 276 - 1,400 - 134 - 23 o
11.
12.
13) 512 14) 73 15) 7,728 16) 4,247 13.
- 430 - 4 -4,462 - 80
- - _ 14.
15.
16.
17) 137 18) 471 19 5,778 20) 55 17,
- 3 - 7 - 8 - 44
- - - 18.
19.
20.
1-10 195|90|85(80|75]|70| 65|60 |55|50
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Subtraction (Vertical) Name:. Answer Key
Solve each problem. Answers
1 2,657
) 3,192 2 9,601 3) 495 49 272
- B35 -3,289 - 69 -_101 2 6,312
2,657 6,312 426 171
3 426
4 171
5 883 6) 75 7 82 8 843 > 882
- 1 -41 - 6 - 33 6 34
882 34 76 810
7 76
8. 810
9 518 10 4492 1) 6,441 12) 528 J 242
-276 -1,400 - 134 - 23 o 3,002
242 3,092 6,307 505
11 6,307
12 505
13) 512 14) 73 15 7,728 16) 4,247 13, 82
- 430 - 4 - 4,462 - 80 6
82 69 3,266 4,167 14.
15, 3,206
16. 4,167
17) 137 18) 471 199 5,778 200 55 17. 134
-3 - 7 -8 -4
134 464 5770 11 18, 464
19. 5,770
20, 11
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Subtraction (Vertical) Name:
Solve each problem. Answers
882 6,312 242 426 171
2,657 810 6,307 3,092 76 1
505 34
2,
) 3,192 2) 9,601 3) 495 3.
- 535 - 3,289 - 69
- — - 4.
5.
6.
7.
4 272 5 883 6 75
-101 - 1 -41 8.
9.
10.
11.
7 g2 8 843 9 518 12,
- 6 - 33 -276
10) 4,492 1) 6,441 12) 528
-1,400 - 134 - 23
M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
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